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lwo
Linear Equations in %e Variables

Easy

(1) b23bba4c ” MULTIPLE CHOICE H [One answer only]
3a + 4b = 25

A shipping company charged gcust’gmer $25 to ship some small boxes
and some large boxes. The equation abov-g?epresents the relationship
between a, the number of small boxes, and b, the number of large boxes,
the customer had shipped. If the customer had 3 small boxes shipped,
how many large boxes were shipped?
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(2) 87322577 ” MULTIPLE CHOICE “ [One answer only]
r+y="75

The equation above relates the number of minutes, x, Maria spends
running each day and the number of minutes, y, she spends biking
each day. In the equation, what does the number 75 represent?

a. The total number of minutes spent running and biking each day
b. The number of minutes spent running each day
c
d

. The number of minutes spent biking for each minute spent running
. The number of minutes spent biking each day
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(3) 06b151d4 ” MULTIPLE CHOICE “ [Onc answer only]

A total of 364 paper straws of equal length were used to construct
two types of polygons: triangles and rectangles. Flre—trianales—and
rectangles were constructed so that no two polygons had a common
—side. The equation 3x + 4y = 364 represents this situation, where is
the number of triangles constructed and is the number of rectangles
constructed. What is the best interpretation of (z,y) = (24, 73) in this

context?

a. If 73 triangles were constructed, then 24 rectangles were con-
structed.

| b.|If 24 triangles were constructed, then 73 rectangles were con-
structed.

c. If 24 triangles were constructed, then 73 paper straws were used.

d. If 73 triangles were constructed, then 24 paper straws were used.
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(4) 8c98c834 ” MULTIPLE CHOICE “ [One answer only]

uation y = 0.1z models the relationship between the number
So 09, of different “pieces of music a certain pianist practices, y, during an
r—minute practice session. How many pieces did the pianist practice

if the session lasted 30 minutes?
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Medium

(1) 002dba45 [

nsensitive ]

Line k is defined by y = —1—37x + 5. Line j is perpendicular to line k in
the xy—plane. What is the slope of line 57
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(2) 9(:7741(:6 ” SHORT ANSWER “ [Case—[nsensitive]

On a 210—mile trip, Cameron drove at an average speed of 60 miles
per hour for the first z hours. He then completed the trip, driving at
an average speed of 50 miles per hour for the remaining y hours. If

x = 1, what is the value of y?

00 aleS/ ko~

« { W = 60 w’ﬂf/)_

50 miles w4 howrs

ot

= {50 wiles

\
\

50 3_ = iF)O

D q4=9

Gox v Hoy =282

Vo miles

bo mh
59 mph

I = bowm

&lr - 50-‘3, w

Qiom

18

:) 60 - 9—+6O: Q*LO



Hard
(1) 3Cdbf026 ” MULTIPLE CHOICE “ [O nnnnnnnnnn ly]

The graph of the equation ax + ky = 6 is a line in the xy—plane, where
a and k are constants. If the line contains the points (—2,—6) and

(0, —3), what is the value of k7
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